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QUESTION 1

Click the Exhibit button. 

Referring to the exhibit, what should you do to increase high availability? 

A. Deploy MC-LAG between the access layer and the servers. 

B. Deploy MC-LAG between the distribution layer and the access layer. 

C. Deploy a chassis cluster at the access layer. 

D. Deploy a Virtual Chassis at the distribution layer. 

Correct Answer: B 

 

QUESTION 2

A customer has concerns about various groups having the ability to easily access their corporate network infrastructure.
They want to implement tighter controls for network infrastructure system access. 

Which three actions will accomplish this task? (Choose three.) 

A. Open console port access. 

B. Disable root access. 

C. Use a secure access VPN. 

D. Provide local passwords. 
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E. Use RADIUS accounting. 

Correct Answer: BCE 

 

QUESTION 3

What are two reasons for using cRPD? (Choose two.) 

A. SOHO 

B. route reflector 

C. cloud-native routing 

D. core routing 

Correct Answer: BC 

 

QUESTION 4

Which two elements are available to implement security within a vRouter managed by Contrail? (Choose two.) 

A. Security Policy 

B. Security Group 

C. IPsec VPN 

D. Network Policy 

Correct Answer: BD 

 

QUESTION 5

When using BGP Layer 2 VPN for a Data Center Interconnect, which statement about MAC learning is correct? 

A. MAC learning is not used. 

B. Management plane MAC learning is used. 

C. Control plane MAC learning is used. 

D. Data plane MAC learning is used. 

Correct Answer: C 
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